) (76 < myy <106 GeV) [pb/GeV]
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glg = &8 T 7 & g < _
dlg £ £ % 8 g 2 B £
S Sl 2 02 £ E 3 & g 2
3 Tl £ £ E £ &g ¥ & 2
S 6] o] (=1 S =} ] - < +— =
pr(€0) [GeV] E 2 /A S5 S5 4 3 @ & 2 0
0 2 | 0.0964 10 |13 39 31 12 12 087 009 82 17
2 4 10243 831089 28 15 12 082 084 002 73 11
4 6 | 0.363 83074 25 10 12 032 073 002 7.6 054
6 8 | 0430 82075 25 11 12 052 080 003 75 0.60
8 9 | 0.479 88|11 35 050 12 072 071 003 7.8 046
9... 10 | 0.540 85|094 32 099 12 040 069 004 7.6 0.80
10... 11 | 0562 83|10 34 016 12 034 092 003 73 046
11... 12 | 0.626 821095 32 094 12 048 077 004 7.3 054
12... 13 | 0.639 841094 31 043 12 054 074 004 75 0.77
13... 14 | 0.706 85/092 31 067 12 059 078 005 7.6 034
14... 16 | 0753 771061 21 060 12 038 077 004 72 024
16... 18 | 0.820 79058 19 061 12 019 080 004 74 0.11
18... 20 | 0921 771057 19 005 12 033 079 004 73 021
20... 22 | 1.005 78054 18 064 12 024 078 004 74 034
22... 25 | 1.160 731037 12 027 12 026 084 004 7.0 031
25... 28 |1.333 035 11 034 12 011 087 003 66 031

026 075 013 12 015 091 0.03 59 047
021 05 013 12 013 099 003 47 0.67

N
Qo
W
N
—_
a1
\O
(o)}
g1 o O
SN

37 43 | 2.028 40018 046 005 12 011 11 0.03 35 0.60
43 52 | 1.889 30015 036 005 12 004 12 004 23 0.67
52 65 | 1.463 231013 033 001 12 014 12 005 13 0.65
65... 85 | 0.886 201014 033 002 12 027 13 0.06 059 0.54
85... 120 | 0.3744 20016 039 007 12 029 14 0.08 0.18 0.60
120... 160 | 0.1356 211025 064 007 12 028 15 0.08 0.03 0.44
160... 190 | 0.0578 251045 12 013 12 043 16 008 0.02 0.34

190... 220 | 0.03103 281063 16 012 12 035 17 0.09 0.03 0.37
220... 250 | 0.01763 34108 22 052 12 061 17 010 0.02 0.72
250... 300 | 0.00912 351090 23 055 12 041 18 0.10 039 0.72
300... 350 | 0.00402 47 114 36 081 12 14 17 013 018 0.25
350... 400 | 0.00192 59|21 49 038 12 041 20 011 027 0.14
400... 450 | 0.001029 84 |29 71 058 12 16 18 021 018 2.0
450... 500 | 0.000603 12 43 11 20 12 12 16 011 053 0.64
500...1000 | 0.0000840 9.5 | 3.0 82 089 12 25 20 020 057 1.0




